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LEARNING OUTCOME

e Students will be able to
* Form any equations depending on situations .

* Solve any simple equations .
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PREVIOUS CONNECT

* Define an algebraic expression.
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Algebraic Expressions

It is an expression involving constant, variable and some operations like addition,
multiplication etc.

Variable

Variable is an unknown number which could have a different numerical value. It is
called Variable as it can vary.

It is represented by different letters like X, y, a, b etc.

Equation
An equation is a condition on a variable. It says that two expressions are equal.
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Equation
An equation is a condition on a variable.
It says that two expressions are equal.

coefficient variable constant
~ / / AN

S5x+7=\2

\ ) | J

expression expression
| J
|

equation

Terms: 5x, 7,2
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Important Points Related to the Equation
*One of the expressions must have a variable.

LHS of the equation is equal to the RHS of the equation.

*An expression does not have equality sign but an equation
always has an equality sign.

*If we interchange the position of the expression from LHS to
RHS or vice versa, the equation remains the same.

5x+7=2

2=5x+7 0DM -t
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Both the above equations are same.



Balanced Equation
When the LHS = RHS of an equation, then it is said to be a
balanced equation.
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Solve the following equations :
EVALLIARNON QUESTIONS

x+5=10
Solution:

X+5=10
=x=10-0=2

Question 2.
2+y=7
Solution:
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Question 14.
14 = 27-x
14 =27 -%
=x=27-14
=x=13
~%=13

Question 15.

10+ 6a =40

10 + 6a = 40

= Ha =40-10=30
30

=3=% =15

~a=h
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Question 23.

S;JI—ILE=2%

2 8
-12=2 » p=12 =—

8 12_8+36 _ 44

= PEITTT T3
a4 2
=8 4t
P="3 3
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Question 32.

i.'.|::+lf1|=t=|-]
<10
i.3':+lf:=4=|-]
10)

7
—x+0=4] = ix=41_ﬁ=35
10 10

= Tx=35x10=350

350 .
x=—=350
= 7
x =350
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HOME WORK

e EX12A
* Q.NO.9 to 14.
AHA
hz+1 DX
(ex) 3 =17 {b}E+H=I+T
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